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1. Solve 2. Solve
—2x+5-2x=13 4x—3(x—2)=21
3. Solve 4, Solve
g — = —
TN 12p=7=-3p+8
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5. Solve 6. Solve
4_21‘:_21'_3 T"‘]_I_S

3 3 7 2
7. 8.

Is the point (2. 0) a solution
to the equation: y=-2x + 4

Give the s/ope of the line that

goes through the points:
(0. 8)and (-1. 2)
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9.

Give the equation of the line
with a slope of -2 that goes
through the point (-5 .-7)

10.

Give the equation of the line

that goes through the points:
(6.2) and (8. -4)

11.

Give the equarion of the line

that 1s parallel to the line
=-5x-2

and goes through the point
(3.-9).

12.

Give the equation of the
line that is perpendicular to
the line yv=-2x+4 and
goes through the point
(4. -2).
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13.

. Solve the following system of
equations by graphing:

X+y=2
2x—y=4
T
»®
hx: =)
*:

14.

Solve the following system
of equations by substitution:

=-2y+4

15.

Solve the following system of
equations by elimination:

3x—-2y=1

2x +2y=4

16.

Solve the following system of
equations by elimination:

X—5y=20

4x + 3y =34
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17.

Solve the following system

of equations by elimination:

18. Simplify

—3111131)2 — 4m* + 61113’132 +2m*

2x +o6y=4
IX-Ty=6
19. Simplify 20. Simplify

(—xz — 5x— 1}—(—3};2 +x-—1)

(3x —2)(4x - 3)
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21. Simplify 22. Simplify
(3x + 4)2 (y _ 2
- (Xx—3)2x"+6x—4)
23. Factor 24. Factor
<2
25x" - 64

x>+ 8x + 15
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25. Factor

0x” + 30x + 25

26. Factor

2. -
2x-+T7x—15

27. Simplify

Jig

28. Simplify

~ 27m%°
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29. Simplify

—2+ 36

30. Simplify

2720 » 341447

31. Simplify

1200x° p*

\ 100x*p?

32. Simplify

f—
N

oy
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33. Simplify 34. Solve
—74/5 + 3420 1% +9=133
35. Solve 36. Solve
x>+ 14x +45=0 x> +5x=0
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37. Solve 38. Solve
Sx*+22x+8=0 2+ 14x+8=0
39. Solve 40. Solve

X —3x—-6=0

2% —6x+3=0




